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ARIVEK AT, WidE SRR, B e, AR, fFEE A
TIE, KA s A KA, SORFHAY R, B, e, ffEmE
EARAK MR “xS” M, ARKBRMELS M N vy =-2.711 9

+0 .352 8 x - 0 .007 x2 +5 X10 - 5x3 , R2 =10 .989 : v
2 .751 8 40 .303 3x — 0 .005 2x2 + 3 .4 X10 - 5x3 , R2
0.990 :y = -2 .506 8 +0.276 7x — 0 .004 8 x2 + 3 .2 X10 - 6
x3, R2=0.988 ; y = - 22 .756 +1 .978 4 x — 0 .351x2 +0 . 000
3x3, R2=0.991 ; y=-15 .344 + 1 .193 2x - 0 .01x2 + 8 .8
X10 - 5x3 , R2 =0 .994 ., HszPEAERKMLEE “pns” B, ARKBR
ek Ky =1/(1/7 +56 . 121 2 X0 .880 5 x) , R2 =0 .995 .



